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\readdata{\data}{listplot2.dat}

\pstScalePoints(100,0.5){0.022 sub neg}{}% changes the order of the x values

\def\pshlabel#1{\sffamily\footnotesize #1}

\def\psvlabel#1{\sffamily\footnotesize #1}

\psset{xAxisLabel=$\nu_2-\nu_1$,yAxisLabel=Success rate [\%],%

xAxisLabelPos={2.5cm,-0.7cm},yAxisLabelPos={-0.8cm,2.5cm},

llx=-0.9cm,lly=-0.8cm,urx=0.2cm,ury=0.1cm}

\psgraph[Ox=1.1,Oy=0,Dy=10,axesstyle=frame,linewidth=0.50pt,ticklinestyle=dotted,%

yticksize=0.0 1.1,xticksize=0 100,tickwidth=0.3pt](0,0)(1.1,100){5cm}{5cm}

\listplot[plotNo=1,plotNoMax=2,linestyle=dashed,dash=3pt 2pt,

linecolor=blue,linewidth=1pt]{\data}

\listplot[plotNo=2,plotNoMax=2,linestyle=solid,

linecolor=red,linewidth=1pt]{\data}

\rput[l](0.65,95){\psline[linewidth=0.3pt,

linecolor=red](0.1,0)\qquad\sffamily\footnotesize Method A}

\rput[l](0.65,85){\psline[linestyle=dashed,dash=3pt 2pt,

linecolor=blue,linewidth=0.3pt](0.1,0)

\qquad\sffamily\footnotesize Method B}

\endpsgraph
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